

Additional Funding Request

MD002	CSS# 16832 WO# 6894 Asset# NA																							
Description of Repairs	Labor and materials to replace 2 toilet and 1 Urinal flush valves and install 3 auto flush kits.																							
Diagnosis: Initial Work Order	Men's locker room clogged toilets first floor																							
Diagnostic Fee	\$0																							
Additional Labor Cost to Perform Repairs	<p>\$ 240</p> <p>TW Labor \$80/hr x 3</p>																							
Additional Material Cost to Perform Repairs	<p>\$1,597.70</p> <table border="1" style="width: 100%; border-collapse: collapse;"> <tr> <td style="width: 50%;">1.28 gpf Single Toilet Flush Valve - 1EPE2</td> <td style="width: 10%;">2</td> <td style="width: 10%;">\$231.00</td> <td style="width: 10%;"></td> <td style="width: 10%;">\$462.00</td> </tr> <tr> <td>0.13 gpf Single Urinal Flush Valve - 6UYN5</td> <td>1</td> <td>\$234.60</td> <td></td> <td>\$234.60</td> </tr> <tr> <td>Side Mounted Double Flush Auto Retrofit Kit - 2VEJ4</td> <td>3</td> <td>\$273.00</td> <td></td> <td>\$819.00</td> </tr> <tr> <td>Sales Tax</td> <td></td> <td></td> <td></td> <td>\$82.10</td> </tr> </table>				1.28 gpf Single Toilet Flush Valve - 1EPE2	2	\$231.00		\$462.00	0.13 gpf Single Urinal Flush Valve - 6UYN5	1	\$234.60		\$234.60	Side Mounted Double Flush Auto Retrofit Kit - 2VEJ4	3	\$273.00		\$819.00	Sales Tax				\$82.10
1.28 gpf Single Toilet Flush Valve - 1EPE2	2	\$231.00		\$462.00																				
0.13 gpf Single Urinal Flush Valve - 6UYN5	1	\$234.60		\$234.60																				
Side Mounted Double Flush Auto Retrofit Kit - 2VEJ4	3	\$273.00		\$819.00																				
Sales Tax				\$82.10																				
Total Cost of Repair	\$ 1,837.70																							



WORK ESTIMATE

CSS #: Work Order #:
Emergency Urgent Routine

Company Name:	Tidewater, Inc.	Facility ID:	MD002
Contractor POC:	Adam Colopy		
Telephone No:	740-819-6207	Building/Location; (e.g., Classroom/Room #)	Men's Locker room
E-Mail Address:	adam.colopy@tideh2o.net		
Assigned Technician(s):	John Brown		

DESCRIPTION of WORK and EXPLANATION for REPAIRS or REPLACEMENT

Labor and materials to replace 2 toilet and 1 Urinal flush valves and install 3 auto flush kits.

LABOR/MATERIAL		MATERIAL/ SUB UNIT DOLLAR AMOUNT	LBR/HR \$80	LINE ITEM TOTAL DOLLAR AMOUNT
ITEM	QUANTITY			
Labor			3	\$240.00
1.28 gpf Single Toilet Flush Valve - 1EPE2	2	\$231.00		\$462.00
0.13 gpf Single Urinal Flush Valve - 6UYN5	1	\$234.60		\$234.60
Side Mounted Double Flush Auto Retrofit Kit - 2VEJ4	3	\$273.00		\$819.00
Sales Tax				\$82.10
SUB-TOTAL COSTS:		Materials Total	Labor	\$240.00
			TOTAL	\$1,837.70

SLOAN

1.28 gpf Single Flush Toilet Manual Flush Valve, 1" IPS Inlet Size, 11-1/2" Rough-In

Item # 1EPE2 Mfr. Model # Royal 111-1.28 Catalog Page # 2744 UNSPSC # 40141609

Web Price **\$192.50** / each One Time Delivery Shipping Pickup

1

Add to CartExpected to arrive **Tue. Dec 18**.

Ship To 43065 (Change)

Jump to: **Replacement Parts**

Be the first to write a review

Shipping Weight **7.1 lbs.**Country of Origin **USA** | *Country of Origin is subject to change.**Note: Product availability is real-time updated and adjusted continuously. The product will be reserved for you when you complete your order.*
[More](#) How can we **improve our Product Images?**

Compare

ZURN

Side Mounted Double Flush Toilet/Urinal Flush Valve Retrofit Kit

Item # 2VEJ4 Mfr. Model # ZERK-CPM Catalog Page # 2745 UNSPSC # 30181505

Web Price: **\$227.50** / each One Time Delivery Shipping PickupExpected to arrive **Tue. Dec 18**.

Ship To 43065 (Change)

[+ Add to List](#)

Jump to:

Replacement Parts

Be the first to write a review

 Shipping Weight **2.85 lbs.** [How can we improve our Product Images?](#) CompareCountry of Origin **Taiwan** | *Country of Origin is subject to change.**Note: Product availability is real-time updated and adjusted continuously. The product will be reserved for you when you complete your order.*
[More](#)

Product Details

Convert your manual unit to a sensor-activated model with these flush valve retrofit kits. Sensor sets the flushing mechanism when a user is detected, then
[View More](#)

SLOAN

0.13 gpf Single Flush Urinal Manual Flush Valve, 3/4" IPS Inlet Size, 11-1/2" Rough-In

Item # 6UYRN5 Mfr. Model # Royal 186-0.13 Catalog Page # 2744 UNSPSC # 30181505

Web Price ⓘ
\$195.50 / each One Time Delivery Shipping Pickup

1

Add to Cart

+ Add to List

Expected to arrive **Tue. Dec 18**.

Ship To 43065 (Change)

Be the first to write a review

Shipping Weight 7.35 lbs.

Country of Origin **USA** | *Country of Origin is subject to change.*

Note: Product availability is real-time updated and adjusted continuously. The product will be reserved for you when you complete your order.
[More](#)

How can we improve our Product Images?

 Compare



